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TEST
Zkouška ověřuje, jaké má student znalosti anglického jazyka v rozsahu studia na střední škole, tedy jaké má před svým vstupem na vysokou školu předpoklady k samostatnému a kvalitnímu používání angličtiny jako dorozumívacího jazyka.

Test z dílny společnosti SCIO, který zde bude prezentován, je rozdělen do určitých oddílů. Ve všech úlohách se vybírá správné řešení ze čtyř nabízených možností, z nichž právě jedna je správná. 
Konverzace

Read the following situations and then from A, B, C or D choose the most suitable, logical and socially appropriate

response.

(Přečtěte si následující výpovědi a z nabízených řešení A, B, C nebo D  zvolte obsahově a stylisticky nejvhodnější reakci na ně.)

1.

Which answer is wrong?

A: “Could you pass the salt please?”

B: “_____”

(A) How do you do?

(B) Certainly.

(C) Here you are.

(D) Of course.

2.

A: I’ll put the vegetables in the middle of the table. Mike, _____.

(A) take the vegetables alone

(B) serve to you the vegetables

(C) take to you the vegetables

(D) help yourself to vegetables

3.

Which question is it not possible to use?

A: _____

B: Fine, thank you.

(A) How are you getting on?

(B) How do you do?

(C) How’s things?

(D) How’s the family?

4.

A: I haven’t got a Bentley.

B: _____

(A) Neither have I.

(B) I don’t have, too.

(C) Neither I have.

(D) Either I haven’t.

5.

A: I’d like a pair of shoes, please.

B: _____

(A) And what measure are you?

(B) And what size are you?

(C) And what measure do you have?

(D) And what rate do you have?

6.

A: Have a good holiday!

B: Thanks.

A: Don’t forget ... _____ .

(A) let me posted

(B) keep me posted

(C) get me posted

(D) send me a postbox

7.

A: I arrived on Monday.

B: _____

(A) So did I.

(B) Also I did.

(C) So I did.

(D) Also I arrived.

8.

A: We have missed the bus. We’ll have to walk, it’s just four miles.

B: _____

(A) Oh, I can’t, it’s too far than I walked.

(B) Oh, I can’t, it’s very far than to walk.

(C) Oh, I can’t, it’s more far for me than I could walk.

(D) Oh, I can’t, it’s too far for me to walk.

Čtení a porozumění textu

TEXT K ÚLOHÁM 9 AŽ 12

BUSH SPURNS TALIBAN BID TO NEGOTIATE SETTLEMENT

President George W. Bush immediately rejected an offer Sunday from the Taliban to discuss handling over Osama bin

Laden if the U.S. stopped bombing Afghanistan. In Jalalabad, Afghanistan, the third most powerful figure in the ruling Taliban

regime said the Taliban also would require evidence that Mr. bin Laden was behind the Sept. 11 terrorist attacks in the U.S.

“We would be ready to hand him over to a third country,” one that would never “come under pressure from the United States,”

if those two conditions were met, Deputy Prime Minister Haji Abdul Kabir said.

The U.S. began a second week of airstrikes against Afghanistan with attacks on Kabul’s airport and a Taliban military

academy. Meanwhile, police in Pakistan battled thousands of protesters Sunday outside an air base where U.S. forces are newly

stationed. While much attention inside the U.S. focused on anthrax and terrorism fears, officials in Washington said the first

week of strikes against the Taliban went well. President Bush said Saturday that seven days of bombing had “crippled” Taliban

air defences and disrupted Mr. bin Laden’s terrorist network. On Saturday, Mr. bin Laden’s al Quaeda threatened a new storm

of hijacked planes.

Also on Saturday, a U.S. Defense Department official acknowledged that a 900-kilogram, satellite-guided bomb missed

its target, a helicopter at Kabul airport and slammed into a civilian area about 1.6 kilometres away. The Taliban have accused

the U.S. of deliberately targeting civilians; Washington says it carefully targets only military and terrorist facilities, and that any

civilian deaths are caused by mishaps.

(adapted from “Bush Spurns .....”; The Wall Street Journal Europe, 15. října 2001, str. 2)
9.

Which statement is true?

(A) The Taliban was willing to hand over bin Laden to a country not directly related to the United States.

(B) The Taliban announced that they were not ready to negotiate with the United States.

(C) The Taliban announced that bin Laden had already been handed over to a third country.

(D) If two conditions of president Bush were met, he would be willing to stop bombing Afghanistan.
10.

The Pakistani police _____ .

(A) had to calm down thousands of protesters supporting the U.S. airstrikes

(B) had to cope with thousands of people who were protesting against U.S. airstrikes

(C) demolished together with thousands of protesters a U.S. military base

(D) refused to defend a U.S. air base

11.

In the third paragraph, which word is a synonym for “acknowledged”?

(A) found out

(B) denied

(C) investigated

(D) confirmed

12.

Which statement is not true?

(A) A satelite-guided helicopter missed its target and slammed into a civilian area.

(B) The Taliban declares that the U.S. strikes concentrate mostly on civilians.

(C) According to George Bush the first week of bombing seriously damaged the Taliban air defenses.

(D) Washington declares that there is no intention to kill civilians in Afghanistan.

Gramatika

Choose the most suitable words or group of words for the gaps in the following sentences from the four possibilities (A, B,

C, D) offered.

(Přečtěte si následující věty, ve kterých jsou vynechána některá slova či skupiny slov. Vyberte nejvhodnější z nabídky A, B,C,D.)
13.

A: “Was he there when you arrived?”

B: “No, _____ .”

(A) he has already gone away

(B) he went already away

(C) he has already been going away

(D) he had already gone away

14.

Which sentence is correct?

(A) If I wouldn’t go there, they wouldn’t give it to me.

(B) If I wouldn’t have gone there, they wouldn’ have given it to me.

(C) If I didn’t go there, they wouldn’t give it to me.

(D) If I won’t go there, they wouldn’t give it to me.

15.

Altough he promised _____ late, he hasn’t arrived yet.

(A) wouldn’t be late

(B) not to be

(C) not being late

(D) to not be

16.

I visited _____.

(A) Germany, France and the United Kingdom

(B) the Germany, the France and the United Kingdom

(C) Germany, France and United Kingdom

(D) the Germany, France and United Kingdom

17.

Where shall we _____ this evening?

(A) our meet

(B) meet

(C) meet us

(D) meet ours

18.

You haven’t arrived yet, _____?

(A) have you

(B) arrived you

(C) haven’t you

(D) didn’t you

19.

Which sentence expresses the same?

“I am sure he lost the keys.”

(A) He must lose the keys.

(B) He was supposed to lose the keys.

(C) He had to lose the keys.

(D) He must have lost the keys.

20.

We must be careful. I think _____.

(A) we have to be followed

(B) we have followed

(C) we are being followed

(D) we are following
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